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2019

ECONOMICS — GENERAL
Paper : CC/GE-2
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.
Group - A
. Answer any ten questions of the following : 2x10

(a) What is classical dichotomy?
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(b) Define Gross Domestic Product.
(¢) If APS = 3/5, what will be the value of the APC?

(d) What is Phillips Curve?

(e) State the Say’s Law.

(f) What is Broad Money?

(g) Distinguish between Balance of Payments and Balance of Trade.

(h) What is the shape of the Aggregate Supply Curve in the classical model?

(i) If wages = ¥ 8,000 crores; rent = T 7,000 crores; interest = ¥ 5,000 crores and profit =¥ 11,000
crores, what will be the national income?

(j) What are the features of short-run consumption function in the Keynesian model?
(k) Define marginal propensity to consume (MPC).

(I) What is high powered money?
(m) Define speculative demand for money.

(n) Give four examples of macroeconomic variables.

(o) What is meant by Credit Multiplier?

Group - B

Write short notes on any three. 5%3
. Free Trade versus Protected Trade

. Quantitative Credit Control measures

. Investment multiplier in Simple Keynesian Model
. Methods of correcting disequilibrium in the Balance of Payments

. Equivalence between the methods of estimating national income.

Group - C
Answer any three questions.
. (a) Determine the equilibrium national income in a Simple Keynesian model through the savings-
investment approach.
(b) IfS=0.2Y — 100 and I = 100, find the equilibrium national income where S = Savings, [ = Investment.
8+2

. (a) How do the commercial banks create credit?

(b) What are the limitations of the theory? 7+3
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9.

10.

11.

(a)
(b)

Distinguish between demand pull inflation and cost push inflation.

What do you mean by anti-inflationary policies? 5+5

What is opportunity cost?

Discuss the gains from trade obtained in Ricardo’s comparative advantage theory by clearly stating
the assumptions. 2+8
Mention the functional relations in the classical model.

Explain the process of determination of the equilibrium values of nominal and real variables in the
classical system. 4+6



